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PATTERN & MARKING SCHEME

Plants and Animals, India and the World, Science and Technology, Earth and Its Environment, Universe, Language and Literature, Entertainment, Social
Studies, Sports, Quantitative Aptitude and Reasoning, Current Affairs, Life Skills (Empathy, Effective Communication, Critical Thinking, Creative Thinking,
Coping with Stress, Decision Making, Problem Solving, Interpersonal Skills, Managing Emotions, Self-awareness).

Achievers Section : Higher Order Thinking Questions from the above given Syllabus.

1.

Angel Falls is the world’s tallest waterfall. It is
situated in which of the following countries?
(A) India (B) Venezuela

(C) Russia (D) Africa

(C) General Power Status
(D) None of these

g

An important contribution of Swami Vivekananda
was .

(A) Opening the Banaras Hindu University
(B) Abolition of Sati system

(C) Opening of Shantiniketan

(D) Starting the Ramakrishna Mission

W

Who among the following was the longest
serving Prime Minister of our country ?

(A) Inder Kumar Guijral (B) Jawaharlal Nehru
(C) Rajiv Gandhi (D) Morarji Desai

P>

How many schedules are there in the Indian
Constitution?

(A) 10 (B) 13

c) 1" (D) 12

o

What is the full form of GPS?
(A) Gateway Position System
(B) Global Positioning System

is the largest member of the monkey

family.
(A) Baboon (B) Pygmy marmoset
(C) Mandrill (D) None of these

What is the full form of LAN?
(A) Local Area Network

(B) Large Area Network

(C) Lateral Air Network

(D) Loose Air Network

A farmer who regularly won prizes for best crop

output explained the reason for his success as

“l share my best seeds with my neighbour

farmers”. Why did he do this?

(A) He did not want his neighbours to be
jealous.

(B) He really liked his neighbours.

(C) This ensured better pollination for his
crops.

(D) Heis agenerous person. He likes to share.

ACHIEVERS SECTION

9.
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Select the incorrect match.

Play Characters
(A) Othello — Desdemona, lago,
Cassio
(B) As You Like it— Rosalind, Frederick, Celia
(C) King Lear — Prospero, Miranda,
Caliban
(D) Macbeth — Duncan, Macduff,
Banquo

10. A sum of ¥ 1550 is lent out into two parts, one

at 8% and another one at 6%. If the total annual
interest is ¥ 106, then the money lent at 6% is




